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Instructor: Dr.R.A.G. Seely Test 1
(short practice version)
Cal I (S) (Maths 201-NYA) "
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2. The graph looks like a U-shaped parabola with z-intercepts at b and c.
3. (a) 642% — a6 — %w*‘r’
(b) (32% —2)y/527 — 6z + L + (2° — 22)3 (527 — 62 + 1)71/2(352° — 6 — 5)
(c) 3(522 — 3z + 8)%(10z — 3)
(d) " +25(32% 4 2)(52t — ¥z + 1) + e 20 4(52t — Yz + 1)3(202° — L (x + 1)72/3)
4. (I've done some with log diff, some without. Ask if you want to verify your answer. But note that 4(e)

needs log diff.)
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() ¥/ = (In jn)ac2+1 {255 In(Inz) + ﬁ;ﬂ
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6. Slope = %; Equation: y = %x + %
7. slope = —3. Equation: y = -3z + 7.
8. x=2o0r —3

9. v=5+6t; v(2)=17m/s, vop =5bm/s; t=>5s

P.S. Let me know if you find (or suspect) any errors!
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